тübitak

# $L^{p}$ Regularity of some weighted Bergman projections on the unit disc 

Yunus E. Zeytuncu


#### Abstract

We show that weighted Bergman projections, corresponding to weights of the form $M(z)\left(1-|z|^{2}\right)^{\alpha}$, where $\alpha>-1$ and $M(z)$ is a radially symmetric, strictly positive and at least $C^{2}$ function on $\overline{\mathbb{D}}$, are $L^{p}$ regular.


Key Words: Weighted Bergman projection, Coefficient multipliers

## 1. Introduction

Let $\mathbb{D}$ denote the unit disc in $\mathbb{C}^{1}$ and $d A(z)$ denote the standard Lebesgue measure on $\mathbb{C}^{1}$. Let $\lambda(r)$ be a strictly positive and continuous function on $[0,1)$. We consider $\lambda(r)$ as a radially symmetric weight on $\mathbb{D}$ by setting $\lambda(z):=\lambda(|z|)$ and denote the space of square integrable functions with respect to the area element $\lambda(z) d A(z)$ by $L^{2}(\lambda)$. It is clear that $L^{2}(\lambda)$ is a Hilbert space with the inner product defined by

$$
\langle f, g\rangle_{\lambda}=\int_{\mathbb{D}} f(z) \overline{g(z)} \lambda(z) d A(z)
$$

and the norm defined by

$$
\|f\|_{\lambda}^{2}=\int_{\mathbb{D}}|f(z)|^{2} \lambda(z) d A(z)
$$

The closed subspace of holomorphic functions in $L^{2}(\lambda)$ is denoted by $A^{2}(\lambda)$. The orthogonal projection operator between these two spaces is called the weighted Bergman projection and denoted by $\mathbf{B}_{\lambda}$, i.e.

$$
\mathbf{B}_{\lambda}: L^{2}(\lambda) \rightarrow A^{2}(\lambda) .
$$

The Riesz representation theorem indicates that $\mathbf{B}_{\lambda}$ is an integral operator. The kernel of this integral operator is called the weighted Bergman kernel and denoted by $B_{\lambda}(z, w)$, i.e. for any $f \in L^{2}(\lambda)$,

$$
\mathbf{B}_{\lambda} f(z)=\int_{\mathbb{D}} B_{\lambda}(z, w) f(w) \lambda(w) d A(w)
$$

[^0]
## ZEYTUNCU

The monomials $\left\{z^{n}\right\}_{n=0}^{\infty}$ form an orthogonal basis of $A^{2}(\lambda)$ and the weighted Bergman kernel is given by the following sum:

$$
B_{\lambda}(z, w)=\sum_{n=0}^{\infty} a_{n}(z \bar{w})^{n}, \text { where } a_{n}=\frac{1}{\int_{\mathbb{D}}|z|^{2 n} \lambda(z) d A(z)}
$$

The coefficients $a_{n}$ are called the Bergman coefficients of weight $\lambda$.
For $1<p<\infty$, we use the standard notation $L^{p}(\lambda)$ and $A^{p}(\lambda)$ to denote the respective Banach spaces of $p$-integrable functions on $\mathbb{D}$ and we use $\|.\|_{p, \lambda}$ to denote the norm on these spaces.

Let us consider the weights defined by $\lambda_{\alpha}(r)=\left(1-r^{2}\right)^{\alpha}$ for $\alpha>-1$, where we set $z=r e^{i \theta}$. The Bergman theory for this family of weights are well investigated and can be found in [4].

In particular, the Bergman coefficients of these weights are computed explicitly and the following explicit expression for the weighted kernel is obtained:

$$
B_{\lambda_{\alpha}}(z, w)=\frac{c_{\alpha}}{(1-z \bar{w})^{2+\alpha}}
$$

where $c_{\alpha}$ is a constant that only depends on $\alpha$.
Furthermore, this explicit expression for the kernel and Schur's lemma together prove the following theorem.

Theorem 1.1 For $\alpha>-1$, the weighted Bergman projection $\mathbf{B}_{\lambda_{\alpha}}$ is bounded from $L^{p}\left(\lambda_{\alpha}\right)$ to $A^{p}\left(\lambda_{\alpha}\right)$ for any $1<p<\infty$.

Proof. See page 12 of [4] and also [6] and [3].

The purpose of this note is to extend this theorem to more general weights in the following setup. Let $M(r)$ be a strictly positive and at least $C^{2}$ function on $[0,1]$. Without loss of generality, we assume that $M(1)=1$. Consider the radially symmetric weight defined by

$$
\mu(z)=M(|z|)\left(1-|z|^{2}\right)^{\alpha}
$$

on $\mathbb{D}$, for some $\alpha>-1$. By the general theory (see [2] and [3]), there exists the weighted Bergman projection operator $\mathbf{B}_{\mu}: L^{2}(\mu) \rightarrow A^{2}(\mu)$, which is an integral operator with the weighted Bergman kernel $B_{\mu}(z, w)$, where

$$
B_{\mu}(z, w)=\sum_{n=0}^{\infty} b_{n}(z \bar{w})^{n}, \text { and } b_{n}=\frac{1}{\int_{\mathbb{D}}|z|^{2 n} \mu(z) d A(z)}
$$

But in this case, it is not easy (unless $M$ is a simple function) to compute the coefficients $b_{n}$ to get an explicit expression for the weighted kernel and therefore, Schur's lemma is not directly applicable in this case.

Nevertheless, we prove the analog of Theorem 1.1 for $\mathbf{B}_{\mu}$, without referring to an explicit expression for the kernel or Schur's lemma.

Theorem 1.2 The weighted Bergman projection $\mathbf{B}_{\mu}$ is bounded from $L^{p}(\mu)$ to $A^{p}(\mu)$ for any $1<p<\infty$.

## ZEYTUNCU

The proof is in two steps; first relating $\mathbf{B}_{\mu}$ to $\mathbf{B}_{\lambda_{\alpha}}$ by a coefficient multiplier operator and then showing that this coefficient multiplier operator is bounded.

For the rest of the note, we denote the boundary of $\mathbb{D}$ by $b \mathbb{D}$ and we write $A \lesssim B$ to mean $A \leq c B$ for some constant $c$ that is clear in context. We also use the Szegö projection $\mathbf{T}: L^{2}(b \mathbb{D}, d \theta) \rightarrow H^{2}$, where $d \theta$ is the arc length on the unit circle and $H^{p}$ is the Hardy space of order $p$. We refer to [2] for definitions and standard facts about the Szegö projection and Hardy spaces.

This article is a part of my Ph.D. dissertation at The Ohio State University. I thank J. D. McNeal, my advisor, for introducing me to this field and helping me with various points. I also thank the anonymous referee for helpful comments.

## 2. Coefficient multipliers and norm convergence

In this section, before giving the details of the proof of Theorem 1.2, we recall a few facts about coefficient multipliers. See [1] and [2] for general account.

Let $X$ be a Banach space of holomorphic functions on $\mathbb{D}$. Any $f \in X$ has Taylor series expansion

$$
f(z)=\sum_{n=0}^{\infty} f_{n} z^{n}
$$

Definition 2.1 A sequence of complex numbers $\left\{t_{n}\right\}$ is called a coefficient multiplier from $X$ to $X$ and denoted by $\left\{t_{n}\right\} \in(X, X)$ if for any function $f \in X$,

$$
t(f)(z):=\sum_{n=0}^{\infty} t_{n} f_{n} z^{n} \quad \text { is also in } X .
$$

It is a fairly general question to characterize the coefficient multipliers on an arbitrary Banach space $X$ and there is no full answer to this question.

Definition 2.2 For a holomorphic function $f$ on $\mathbb{D}$ and $N \in \mathbb{N}$, let $S_{N} f$ denote the Taylor polynomial of $f$ of degree $N$, i.e., $S_{N} f(z)=\sum_{n=0}^{N} f_{n} z^{n}$.

If $X$ has the property that for any $f \in X$ the sequence of Taylor polynomials $\left\{S_{N} f\right\}$ converges to $f$, then a sufficient condition for coefficient multipliers can be formulated as follows.

Proposition 2.3 Let $(X,\|\|$.$) be a Banach space of holomorphic functions on \mathbb{D}$ such that for every $f \in X$ the sequence $\left\{S_{N} f\right\}$ of Taylor polynomials converges to $f$ in the norm of $X$. Then any sequence of bounded variation is a coefficient multiplier from $X$ to $X$.

Definition 2.4 $A$ sequence of complex numbers $\left\{t_{n}\right\}$ is said to be of bounded variation if $\left|t_{0}\right|+\sum_{n=1}^{\infty} \mid t_{n}-$ $t_{n-1} \mid$ is finite.

## ZEYTUNCU

Proposition 2.3 appears in [1, Proposition 3.7]. It follows from summation by parts and we repeat its proof for completeness.
Proof. Since the Taylor polynomials converge, for any given $f \in X$ and $\epsilon>0$ there exists an $N$ such that for any $k>N$

$$
\left\|\sum_{n=k}^{\infty} f_{n} z^{n}\right\|<\epsilon
$$

Let $\left\{t_{n}\right\}$ be the sequence of bounded variation and $\left|t_{0}\right|+\sum_{n=1}^{\infty}\left|t_{n}-t_{n-1}\right| \leq K$. Summation by parts and bounded variation hypothesis give

$$
\begin{aligned}
\left\|\sum_{n=k}^{\infty} t_{n} f_{n} z^{n}\right\| & =\left\|\sum_{n=k}^{\infty}\left(t_{n+1}-t_{n}\right) \sum_{j=n+1}^{\infty} f_{j} z^{j}+t_{k} \sum_{n=k}^{\infty} f_{n} z^{n}\right\| \\
& \leq\left[\left|t_{k}\right|+\sum_{n=k}^{\infty}\left|t_{n+1}-t_{n}\right|\right] \epsilon \\
& \leq K \epsilon
\end{aligned}
$$

This shows that $t(f)(z)=\sum_{n=0}^{\infty} t_{n} f_{n} z^{n}$ is in $X$ and finishes the proof.

In order to use this proposition in the proof of Theorem 1.2, we have to check whether Taylor polynomials converge in $A^{p}(\mu)$. This turns out to be true even in a more general form.

Proposition 2.5 For $1<p<\infty$ and any integrable radial weight $\lambda(r)$, the Taylor series of every function in $A^{p}(\lambda)$ converges in norm.

In particular, the claim is true for $A^{p}\left(\lambda_{\alpha}\right)$ and $A^{p}(\mu)$. The statement for $A^{p}\left(\lambda_{\alpha}\right)$ is in [5]. The general case is obtained by just imitating the proof in [5].

Proof. This is done in three steps.
Step One. The holomorphic polynomials are dense in $A^{p}(\lambda)$.
For any $f \in A^{p}(\lambda)$ and for any $0<\rho<1$, define $f_{\rho}(z)=f(\rho z)$. Each $f_{\rho}$ is holomorphic in a larger disc and the Taylor polynomials of each $f_{\rho}$ converges uniformly on $\mathbb{D}$ and hence in $A^{p}(\lambda)$. Therefore it is enough to show that

$$
\lim _{\rho \rightarrow 1^{-}}\left\|f-f_{\rho}\right\|_{p, \lambda}=0
$$

For any holomorphic $f$, the averages

$$
M_{p}^{p}(r, f)=\frac{1}{2 \pi} \int_{0}^{2 \pi}\left|f\left(r e^{i \theta}\right)\right|^{p} d \theta
$$

are well defined and non-decreasing functions of $r$ (see [2, page 26]). Moreover

$$
M_{p}^{p}\left(r, f_{\rho}\right)=M_{p}^{p}(\rho r, f) \leq M_{p}^{p}(r, f)
$$

## ZEYTUNCU

Since $f \in A^{p}(\lambda)$ and

$$
\|f\|_{p, \lambda}^{p}=\int_{0}^{1} r \lambda(r) M_{p}^{p}(r, f) d r .
$$

$M_{p}^{p}(r, f)$ is integrable with respect to the weight $r \lambda(r) d r$.
On the other hand, $f_{\rho} \rightarrow f$ pointwise on $\mathbb{D}$ as $\rho \rightarrow 1^{-}$so by the Lebesgue dominated convergence theorem $\lim _{\rho \rightarrow 1^{-}} M_{p}^{p}\left(r, f-f_{\rho}\right)=0$. We also have

$$
M_{p}^{p}\left(r, f-f_{\rho}\right) \leq 2^{p}\left(M_{p}^{p}(r, f)+M_{p}^{p}\left(r, f_{\rho}\right) \leq 2^{p+1} M_{p}^{p}(r, f) .\right.
$$

Therefore again the Lebesgue dominated convergence theorem implies

$$
\begin{aligned}
\lim _{\rho \rightarrow 1^{-}}\left\|f-f_{\rho}\right\|_{p, \lambda}^{p} & =\lim _{\rho \rightarrow 1^{-}} \int_{0}^{1} r \lambda(r) M_{p}^{p}\left(r, f-f_{\rho}\right) d r \\
& =\int_{0}^{1} r \lambda(r) \lim _{\rho \rightarrow 1^{-}} M_{p}^{p}\left(r, f-f_{\rho}\right) d r \\
& =0 .
\end{aligned}
$$

This finishes the first step.
Step Two. We show that the operator norms of $S_{N}$ 's (defined in Definition 2.2) are uniformly bounded. For this we need a well-known result about the Szegö projection. Let $\mathbf{T}: L^{2}(b \mathbb{D}, d \theta) \rightarrow H^{2}$ denote the Szegö projection. By using the fact that $\mathbf{T}$ is also bounded from $L^{p}(b \mathbb{D}, d \theta)$ to $H^{p}$ for any $1<p<\infty$, one can prove (see [2, page 27]) that there exists $C>0$, independent of $N$ and $h$, such that

$$
\begin{equation*}
\int_{0}^{2 \pi}\left|S_{N} h\left(e^{i \theta}\right)\right|^{p} d \theta \leq C \int_{0}^{2 \pi}\left|h\left(e^{i \theta}\right)\right|^{p} d \theta \tag{2.6}
\end{equation*}
$$

for any $h \in H^{p}$. The proof is only to note that $\overline{S_{N} f\left(e^{i \theta}\right)}=e^{-i N \theta} T\left(e^{i N \theta} \overline{f\left(e^{i \theta}\right)}\right)$ which is clear for $f$ a polynomial, and follows in general since polynomials are dense in $H^{p}$.

Now we calculate the operator norms of $S_{N}$ 's. For given $f \in A^{p}(\lambda)$,

$$
\begin{aligned}
\left\|S_{N} f\right\|_{p, \lambda}^{p} & =\int_{\mathbb{D}}\left|S_{N} f(z)\right|^{p} \lambda(z) d A(z) \\
& =\int_{0}^{1} r \lambda(r) d r \int_{0}^{2 \pi}\left|S_{N} f\left(r e^{i \theta}\right)\right|^{p} d \theta \\
& \leq C \int_{0}^{1} r \lambda(r) d r \int_{0}^{2 \pi}\left|f\left(r e^{i \theta}\right)\right|^{p} d \theta \text { since } f_{r} \in H^{p} \\
& =C \int_{\mathbb{D}}|f(z)|^{p} \lambda(z) d A(z) \\
& =C\|f\|_{p, \lambda}^{p} .
\end{aligned}
$$

## ZEYTUNCU

This implies that $\sup _{N}\left\|S_{N}\right\|_{o p} \leq C$ and finishes the second step.
Step Three. Next, we show that $\lim _{N \rightarrow \infty}\left\|S_{N} f-f\right\|_{p, \lambda}=0$ for any $f \in A^{p}(\lambda)$.
Given $f$ and $\epsilon>0$, by the first step there exists a polynomial $Q$ such that $\|Q-f\|_{p, \lambda}^{p}<\epsilon$. Then

$$
\begin{aligned}
\left\|S_{N} f-f\right\|_{p, \lambda}^{p} & \leq\left\|S_{N} f-S_{N} Q\right\|_{p, \lambda}^{p}+\left\|S_{N} Q-Q\right\|_{p, \lambda}^{p}+\|Q-f\|_{p, \lambda}^{p} \\
& \leq(C+1) \epsilon+\left\|S_{N} Q-Q\right\|_{p, \lambda}^{p} .
\end{aligned}
$$

Note that $S_{N} Q=Q$ for large enough $N$ and therefore for sufficiently large $N$,

$$
\left\|S_{N} f-f\right\|_{p, \lambda}^{p} \leq(C+1) \epsilon
$$

Since this is true for any $\epsilon>0$ we get $\lim _{N \rightarrow \infty}\left\|S_{N} f-f\right\|_{p, \lambda}=0$. This finishes the last step and the proof of the proposition.

## 3. Proof of Theorem 1.2

In this section, we prove Theorem 1.2 by using Propositions 2.3 and 2.5. Recall that $a_{n}$ 's are the Bergman coefficients of $\left(1-|z|^{2}\right)^{\alpha}$ and $b_{n}$ 's are the Bergman coefficients of $\mu$. Let $\mathcal{R}$ denote the coefficient multiplier operator for the sequence $\left\{\frac{b_{n}}{a_{n}}\right\}$. The following identity relates the two Bergman projections:

$$
\begin{equation*}
\mathbf{B}_{\mu} f(z)=\mathcal{R}\left[\mathbf{B}_{\lambda_{\alpha}}(f M)\right](z) \tag{3.1}
\end{equation*}
$$

Indeed, for any $f \in L^{2}(\mu)$,

$$
\begin{aligned}
\mathbf{B}_{\mu} f(z) & =\int_{\mathbb{D}} \sum_{n=0}^{\infty} b_{n}(z \bar{w})^{n} f(w) \mu(w) d A(w)=\sum_{n=0}^{\infty} b_{n} z^{n} \int_{\mathbb{D}} \bar{w}^{n} f(w) \mu(w) d A(w) \\
& =\sum_{n=0}^{\infty} a_{n} z^{n} \frac{b_{n}}{a_{n}} \int_{\mathbb{D}} \bar{w}^{n} f(w) \mu(w) d A(w) \\
& =\mathcal{R}\left[\sum_{n=0}^{\infty} a_{n} z^{n} \int_{\mathbb{D}} \bar{w}^{n} f(w) \mu(w) d A(w)\right] \\
& =\mathcal{R}\left[\mathbf{B}_{\lambda_{\alpha}}(f M)\right](z) .
\end{aligned}
$$

Here we change the order of integration and summation but this doesn't cause any problems. We can truncate the summation, which is equivalent to looking at the Taylor polynomials of $\mathbf{B}_{\mu} f$ and $\mathbf{B}_{\lambda_{\alpha}}(f M)$, and take limit by using Proposition 2.5. Now, it suffices to prove that the multiplier operator $\mathcal{R}$ is bounded from $A^{p}(\mu)$ to $A^{p}(\mu)$ (actually, we have to show that $\mathcal{R}$ is bounded from $A^{p}\left(\lambda_{\alpha}\right)$ to $A^{p}(\mu)$ but since $M$ is of class $C^{2}$ and thus bounded; the inclusion map $i: A^{p}\left(\lambda_{\alpha}\right) \rightarrow A^{p}(\mu)$ is bounded). By the closed graph theorem it is enough

## ZEYTUNCU

to show that $\mathcal{R}(f) \in A^{p}(\mu)$ for any $f \in A^{p}(\mu)$. Moreover, Proposition 2.3 implies that it is enough to show that the sequence $\left\{\frac{b_{n}}{a_{n}}\right\}$ is of bounded variation.

It is immediate that the sequence $\left\{\frac{b_{n}}{a_{n}}\right\}$ is bounded from below and above. Moreover, a direct computation gives that

$$
\lim _{n \rightarrow \infty} \frac{b_{n}}{a_{n}}=\lim _{n \rightarrow \infty} \frac{\int_{0}^{1} r^{2 n+1}\left(1-r^{2}\right)^{\alpha} d r}{\int_{0}^{1} r^{2 n+1} \mu(r) d r}=M(1)^{-1}
$$

We quantify this computation to get that the sequence $\left\{\frac{b_{n}}{a_{n}}\right\}$ is indeed of bounded variation.

Lemma $3.2\left|\frac{b_{n}}{a_{n}}-\frac{b_{n-1}}{a_{n-1}}\right| \lesssim \frac{1}{n^{2}}$, i.e., the sequence $\left\{\frac{b_{n}}{a_{n}}\right\}$ is of bounded variation and therefore $\mathcal{R}$ is bounded from $A^{p}(\mu)$ to $A^{p}(\mu)$.

## Proof.

First, we consider the difference between elements of the sequence $\left\{\frac{b_{n}}{a_{n}}\right\}$. Here, all the integrals are taken with respect to $r$ and from 0 to 1 .

$$
\begin{aligned}
\frac{b_{n}}{a_{n}}-\frac{b_{n-1}}{a_{n-1}} & =\frac{\int r^{2 n+1}\left(1-r^{2}\right)^{\alpha}}{\int r^{2 n+1} \mu(r)}-\frac{\int r^{2 n-1}\left(1-r^{2}\right)^{\alpha}}{\int r^{2 n-1} \mu(r)} \\
& =\frac{\int r^{2 n+1}\left(1-r^{2}\right)^{\alpha} \int r^{2 n-1} \mu(r)-\int r^{2 n-1}\left(1-r^{2}\right)^{\alpha} \int r^{2 n+1} \mu(r)}{\int r^{2 n+1} \mu(r) \int r^{2 n-1} \mu(r)} \\
& =: \frac{B(n)}{A(n)} .
\end{aligned}
$$

We can rewrite the numerator as

$$
\begin{aligned}
B(n)= & \int r^{2 n+1}\left(1-r^{2}\right)^{\alpha} \int r^{2 n-1}\left(1-r^{2}\right) \mu(r)-\int r^{2 n-1}\left(1-r^{2}\right)^{\alpha+1} \int r^{2 n+1} \mu(r) \\
= & \int r^{2 n+1}\left[(1-M(r))\left(1-r^{2}\right)^{\alpha}\right] \int r^{2 n-1}\left(1-r^{2}\right) \mu(r) \\
& \quad-\int r^{2 n-1}\left[(1-M(r))\left(1-r^{2}\right)^{\alpha+1}\right] \int r^{2 n+1} \mu(r) \\
= & B_{1}(n)-B_{2}(n) .
\end{aligned}
$$

## ZEYTUNCU

Next, we integrate $B_{1}(n)$ and $B_{2}(n)$ by parts twice to obtain

$$
\begin{aligned}
B_{1}(n) & =\frac{1}{(2 n+2) 2 n} \int r^{2 n+2}\left[(1-M(r))\left(1-r^{2}\right)^{\alpha}\right]^{\prime} \int r^{2 n}\left[M(r)\left(1-r^{2}\right)^{\alpha+1}\right]^{\prime} \\
& =: \frac{1}{(2 n+2) 2 n} C_{1}(n) C_{2}(n) \\
B_{2}(n) & =\frac{1}{2 n(2 n+1)} \int r^{2 n+1}\left[(1-M(r))\left(1-r^{2}\right)^{\alpha+1}\right]^{\prime \prime} \int r^{2 n+1}\left[M(r)\left(1-r^{2}\right)^{\alpha}\right] \\
& =: \frac{1}{2 n(2 n+1)} C_{3}(n) C_{4}(n) .
\end{aligned}
$$

Here, $C_{1}, C_{2}, C_{3}, C_{4}$ denote the respective integrals. Note that we don't get any boundary terms after integration by parts since $M$ is of class $C^{2}$ on $[0,1]$ and $M(1)=1$.

In order to finish the proof, it suffices to show that

$$
\sup _{n}\left\{n^{2}\left|\frac{B_{1}(n)}{A(n)}\right|\right\} \text { and } \sup _{n}\left\{n^{2}\left|\frac{B_{2}(n)}{A(n)}\right|\right\} \text { are finite. }
$$

Thus, it is enough to show that

$$
\sup _{n}\left\{\left|\frac{C_{1}(n) C_{2}(n)}{A(n)}\right|\right\} \text { and } \sup _{n}\left\{\left|\frac{C_{3}(n) C_{4}(n)}{A(n)}\right|\right\} \text { are finite. }
$$

We start with the first one.

$$
\begin{aligned}
\frac{C_{1}(n) C_{2}(n)}{A(n)} & =\frac{\int r^{2 n+2}\left[(1-M(r))\left(1-r^{2}\right)^{\alpha}\right]^{\prime} \int r^{2 n}\left[M(r)\left(1-r^{2}\right)^{\alpha+1}\right]^{\prime}}{\int r^{2 n+1} M(r)\left(1-r^{2}\right)^{\alpha} \int r^{2 n-1} M(r)\left(1-r^{2}\right)^{\alpha}} \\
& \left.\rightarrow \frac{\left[(1-M(r))\left(1-r^{2}\right)^{\alpha}\right]^{\prime}\left[M(r)\left(1-r^{2}\right)^{\alpha+1}\right]^{\prime}}{M(r)\left(1-r^{2}\right)^{\alpha} M(r)\left(1-r^{2}\right)^{\alpha}}\right|_{r=1} \text { as } n \rightarrow \infty \\
& =2(\alpha+1)^{2} M^{\prime}(1)
\end{aligned}
$$

This shows that the first supremum is indeed finite. Note that the condition $M(1)=1$ is used here.
We argue the same way for the second one.

$$
\begin{aligned}
\frac{C_{3}(n) C_{4}(n)}{A(n)} & =\frac{\int r^{2 n+1}\left[(1-M(r))\left(1-r^{2}\right)^{\alpha+1}\right]^{\prime \prime} \int r^{2 n+1}\left[M(r)\left(1-r^{2}\right)^{\alpha}\right]}{\int r^{2 n+1} M(r)\left(1-r^{2}\right)^{\alpha} \int r^{2 n-1} M(r)\left(1-r^{2}\right)^{\alpha}} \\
& \left.\rightarrow \frac{\left[(1-M(r))\left(1-r^{2}\right)^{\alpha+1}\right]^{\prime \prime}\left[M(r)\left(1-r^{2}\right)^{\alpha}\right]}{M(r)\left(1-r^{2}\right)^{\alpha} M(r)\left(1-r^{2}\right)^{\alpha}}\right|_{r=1} \quad \text { as } n \rightarrow \infty \\
& =2(\alpha+2)(\alpha+1) M^{\prime}(1)-2(1+\alpha)(1-M(1)) .
\end{aligned}
$$

This shows that the second supremum is indeed finite. Again, note that the condition $M(1)=1$ is used here. This finishes the proof Lemma 3.2.

## ZEYTUNCU

Since Lemma 3.2 is established, we conclude the proof of Theorem 1.2.

## References

[1] Buckley, S. M. and Koskela, P. and Vukotić, D.: Fractional integration, differentiation, and weighted Bergman spaces. Math. Proc. Cambridge Philos. Soc. 2, 369-385 (1999).
[2] Duren, P. and Schuster, A.: Bergman spaces. Providence, RI. American Mathematical Society 2004.
[3] Forelli, F. and Rudin, W.: Projections on spaces of holomorphic functions in balls. Indiana Univ. Math. J. 24, 593-602 (1974/75).
[4] Hedenmalm, H. and Korenblum, B. and Zhu, K.: Theory of Bergman spaces. New York. Springer-Verlag 2000.
[5] Zhu, K. H.: Duality of Bloch spaces and norm convergence of Taylor series. Michigan Math. J. 38, 89-101 (1991)
[6] Zhu, K.: Operator theory in function spaces. Providence, RI. American Mathematical Society 2007.

Yunus E. ZEYTUNCU
Received: 30.11.2010
Department of Mathematics, Texas A\&M University, College Station, Texas 77843, USA
e-mail: zeytuncu@math.tamu.edu


[^0]:    1991 AMS Mathematics Subject Classification: 30B10, 30C40.

